LERTPAJIbHAS
CUMMETPUA



LleHTpanbHaa cMMMeTpuN

M e Toukm Mu M
Ha3bIBaAlOTCH
4 CUMMETPUYHbBIMY
OTHOCUTENbHO TOYKU A,
ecnmn A — cepeanHa
Mi MM .

* A —yenmp
cumMmMempuu




JloKa)xeM, 4To LICHTpaJIbHAI CUMMETPUS
SABIISICTCS IBHKEHUEM
M(x; y; 2) u M (x5 yy; 2))

1) Ecmu M He paBHo 0 , To O — cepequna MMI.
Torma (x+x1)/2=0; (y+y1)/2=0; (z+z1)/2=0.
3Hauut, x=-x1; y=-y1; z=-z1. (1).

v 2) Ecmi M=0, Tox=xl1=y=yl=z=121=0,

T. €. popmyisl (1) BepHBL.

70 (M) =ML1.
3) Paccmorpum A(x1; y1; z1), B(x2; y2; z2), A—> A1, B—> B1, torna A1(-x1; -y1;
-z1), B1(-x2; -y2;- z2) (mo (1)). Torna,

AB=J'X2 —x Py =y Ptz -z P

4 By =w]'—x2 + X & L o 8 | ° +\=zy42 2 )

T. €. AB=A1B1. Torna Zo - 1BuxxeHue



